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A ‘tangent line is drawn to ¢ at the point \(a,c/a’).
Show that the area bounded by the coordinate axes and the tangent line is

]

—

For what values of ¢ does the equation In z = cx? have exactly one solution?
Sketch the graph of y = 2 — tan~!(x). Show that the graph has 2 slant

r2/a? + 9% /b = 1.
A cone is inscribed in a larger cone of height 1, so that its vertex is at the
center of the larger cone. Show that the inner cone has maximum volume

. If zsin(rx) = f0m2 f(t) dt, where f(x) is continuous, find f(4).



